KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

WELL COMPLETION FORM ORIGINA

Form Must Be Typed

Feet

KCC WICHITA

WELL HISTORY - DESCRIPTION OF WELL & LEASE

API No. 15 - 071-20841-00-00 Operator: License # 03926 Name: Monarch Petroleum Corporation County: Greeley County Address: 309 West 7th Street, Suite 1601 NE NE NW Sec. 10 Twp. 18 S. R. 40 ☐ East West City/State/Zip: Fort Worth, Texas 76131 330 __ feet from S /(N) (circle one) Line of Section 2310 Purchaser: Duke ___ feet from E /(W)(circle one) Line of Section Operator Contact Person: W. Kenneth Hall Footages Calculated from Nearest Outside Section Corner: Phone: (817) 877-3883 (circle one) NE Contractor: Name: Cheyenne Drilling Lease Name: Bounds Well #: 2-10 Field Name: Byerly License: 33375 Wellsite Geologist: Ken Hall Producing Formation: Towanda Elevation: Ground: 3594 _ Kelly Bushing: 3600 Designate Type of Completion: Total Depth: 2989 Plug Back Total Depth: 2985 ____ New Well _____ Re-Entry Amount of Surface Pipe Set and Cemented at 317' SIOW _ ✓ Gas ENHR SIGW Multiple Stage Cementing Collar Used? ☐ Yes ✓ No _ Other (Core, WSW, Expl., Cathodic, etc) If ves, show depth set _ If Alternate II completion, cement circulated from TD If Workover/Re-entry: Old Well Info as follows: feet depth to surface Operator:_ Well Name: **Drilling Fluid Management Plan** _____ Original Total Depth:_ Original Comp. Date: ____ (Data must be collected from the Reserve Pit) Chloride content 85,000 _ Deepening __ Re-perf. __ Conv. to Enhr./SWD ppm Fluid volume_2,670 Plug Back_ Plug Back Total Depth Dewatering method used Evaporation __ Commingled Docket No. Location of fluid disposal if hauled offsite: __ Dual Completion Docket No. Operator Name:_____ _ Other (SWD or Enhr.?) Docket No. 8-5-06 _____License No.:___ 06/05/2006 06/02/2006 Not Yet Completed Quarter____ Sec.___ Twp.___ S. R.___ East West Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date Docket No : INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.

All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge. **KCC Office Use ONLY** Letter of Confidentiality Received Subscribed and sworn to before me this 14th If Denied, Yes Date:_ Wireline Log Received . **عان** 20 **Geologist Report Received UIC Distribution** Date Commission Expires: 08 RECEIVED CYNTHIA J. SMITH **Notary Public** NOV 17 2006

STATE OF TEXAS

My Comm. Exp. 08/31/2009

Operator Name: Monarch Petroleum Corporation				_ Lease Name:	Bounds		Well #: 2-10		
Sec. 10 Twp. 1	8 S. R. <u>40</u>	East 🗸] West	County: Greel					
INSTRUCTIONS: SI tested, time tool oper temperature, fluid red Electric Wireline Logs	n and closed, flowin covery, and flow rate	g and shut-in p s if gas to surf	ressures, who	ether shut-in pre	ssure reached	static level, hydro	ostatic pressur	es. botto	m hole
Drill Stem Tests Taken Y		☐ Yes	res 📝 No		✓ Log Formation (Top), Depth		and Datum		Sample
Samples Sent to Geological Survey		Yes	✓ No	Nam Towa	ne anda/Ft. Riley		Тор 2910'		Datum
Cores Taken Electric Log Run (Submit Copy)		☐ Yes ☑ Yes	✓ No No		,		2010		
List All E. Logs Run:									
The state of the s		Papart all a	CASING RE	-		Air			
Purpose of String	Size Hole	Size Ca	sing	ductor, surface, inte	rmediate, produc	Type of	# Sacks	Туре	and Percent
Surface	12 1/4	Set (In C		Lbs. / Ft.	Depth	Common	Used 175	†	dditives
Production*	7 7/8	4 1/2		23 317 Common 10.5 2987 Lite		500	†	ICI2, 2% gel	
*Cement to surface		7 1/2		0.5	2901	Class C	100	1/2# 1	iow seai
		1	DITIONAL OF	MENTING (OO	IFF7F DECOM	.1	100		
Purpose:	Depth Top Bottom	Type of Ce		#Sacks Used	NG / SQUEEZE RECORD S Used Type and Percent Additives				
Protect Casing Plug Back TD Plug Off Zone			. •						
					:				
Shots Per Foot	PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used)				Depth				
2/ft 2930-38, 2941-44, 2952-64, 2966-70			2966-70		1,000 gal 15%HCL TD				TD
				11,000# 20/40 SD w/ 400# resin coated SD, TD				TD	
					374 BBLS 2	2.5# gel			
TUBING RECORD	Size 2 3/8	Set At 2977	1	Packer At	Liner Run	Yes ✓ No			
Date of First, Resumero		inhr. Pro	ducing Method	Flowing	√ Pumpi	ng Gas Lif	t Othe	er (Explain)
Estimated Production Per 24 Hours	Oil 1	Bbls.	Gas Mcf	Wate	r B	bls. G	Sas-Oil Ratio		Gravity
Disposition of Gas	METHOD OF C	COMPLETION			Production Inter	val		·	
Vented ✓ Sold (If vented, Su	Used on Lease	-	Open Hole Other <i>(Specify)</i> _	Perf. D	ually Comp.	Commingled			
		_					REC	EIVE	D

NOV 17 2006 KCC WICHITA ALLIE

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

JUN 1 6 2006

Invoice Number: 102762

Invoice Date: 06/09/06

Sold Monarch Petroleum Co.

To:

309 W. 7th Suite #702 Ft. Worth, TX

76102

prod pikrak/t

Cust I.D....: Mona

P.O. Number ... Bounds 2-10 P.O. Date...: 06/09/06

Due Date.: 07/09/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net TX
Class "C"	100.00	SKS	14 7000	
Lite	500.00	SKS	14.7000 10.7500	1470.00 T 5375.00 T
FloSeal	250.00	LBS	2.0000	500.00 T
Handling	634.00	SKS	1.9000	1204.60 E
Mileage	83.00	MILE	50,7200	4209.76 E
634 sks @>08 pe	r sk per mi			
Prod. String	1.00	JOB	1610.0000	1610.00 E
Mileage pmp trk	83.00	MILE	5.0000	415.00 E
Head Rental	1.00	PER	100.0000	100.00 E
AFU Float Shoe	1.00	EACH	200.0000	200.00 T
Latch Down Plug	1.00	EACH	325.0000	325.00 T
Centralizers	8.00	EACH	45.0000	360.00 T
3askets	2.00	EACH	130.0000	260.00 T

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 1602.94 ONLY if paid within 30 days from Invoice Date

CAPTAGE OF THE R		om volta in file of		
Subtota	1	1	6029.3	6
Tax			534.8	
Payment	s:		0.0	
Total	• •		6564.2	
			1602.9	
		1.	1011	70

73550-Bouoz-10

RECEIVED NOV 1 7 2006 KCC WICHITA Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

ALLIE

Invoice Number: 102761

Sold Monarch Petroleum Co.

To:

309 W. 7th Suite #702 Ft. Worth, TX 76102

JAM S. Samos

Must

Must P.O. Date ...: 06/09/06

Due Date.: 07/09/06 Terms...: Net 30

Item I.D./Desc. Qty. Used	Unit	Price	Net TX
Common 175.00	SKS	12.2000	2135.00 T
Gel 3.00	SKS	16.6500	49.95 T
Chloride 6.00 Handling 184.00	SKS	46.6000	279.60 T
Handling 184.00 Mileage 83.00	SKS MILE	$egin{array}{c} 1.9000 \ 14.7200 \end{array}$	349.60 E
184 sks @>08 per sk per mi	MILLE	14.7200	1221.76 E
Surface 1.00	JOB	815.0000	815.00 E
Mileage pmp trk 83.00	MILE	5.0000	415.00 E
그 가는 그는 이 사람들이 나는 생각이 되었는데 되었다면 하다는 사람이 아무지 않아야 되었다면 하였다. 학생		이 항상 보다면 그는 이렇게 하지 않는데 다른 사람들	

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 526.59 ONLY if paid within 30 days from Invoice Date

Subtotal: 5265.91 Tax : 155.27 Payments: 0.00 Total... 5421.18

71730-BOU02-10

RECEIVED NOV 1 7 2006 KCC WICHITA